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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

ac˜ÁÃ^Eı YÁPˆy‘]-2 ( Subsidiary - 2 ) 

=◊‡ˆV◊[˝VÓÁ ( Botany ) 
◊•Tˆ›Ã̂  Yy (S-II, SBT-II : Botany-II) 

a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 

Special credit will be given for accuracy and relevance 
in the answer. Marks will be deducted for incorrect 

spelling, untidy work and illegible handwriting. 
The weightage for each question has been 

indicated in the margin. 

 

◊[˝\ˆÁG - Eı 

 Â^ ÂEıÁ„XÁ ªV«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

1* ◊[˝◊\ˆ~ Y“EıÁÃ[˝ ◊XÃ^Tˆ Y«πY◊[˝XÓÁa ◊ªJÙyac˜ [˝SÔXÁ EıÃ[˝”X * 
A„VÃ[˝ Y“„TˆÓEı Y“EıÁ„Ã[˝Ã[˝ Âl˘‰y =VÁc˜Ã[˝S ◊VX * ◊ªJÙyac˜ 
mä[˝›L›Ã[˝ AEı◊ªRÙO ◊Qˆ∂ëˆ„EıÃ[˝ GPˆX [˝SÔXÁ EıÃ[˝”X * 15 + 5 

2* LÁÜ_ =◊‡ˆ„VÃ[˝ %ÜÿöˆÁ◊XEı È[˝◊`rÙÓ, L_L =◊‡ˆ„VÃ[˝ 

`ÁÃ[˝›Ã[˝ÿöˆÁ◊XEı È[˝◊`rÙÓ A[˝e _[˝SÁ∂ë̂ « =◊‡ˆ„VÃ[˝ `ÁÃ[˝›Ã[˝[  ̋w¯›Ã̂  

È[˝◊`rÙÓ ae„l˘„Y [˝SÔXÁ EıÃ[˝”X * V«◊ªRÙO _[˝SÁ∂ëˆ« =◊‡ˆ„VÃ[˝ 

◊[˝p˚ÁXa∂ˆÇTˆ XÁ] ◊_F«X * 6 + 6 + 6 + 2 

3* ÂY‰≥RÙOÁL Zıa„ZıªRÙO Y„UÃ[˝ =dY~ Y“U] %∂⁄ˆ◊ªRÙOÃ[˝ XÁ] ◊Eı ? 

Ac Õ Y„UÃ[˝ %YÃ[˝ XÁ] Eı› ? ÂY‰≥RÙOÁL Zıa„ZıªRÙO YU◊ªRÙOÃ[˝ 

◊[˝◊\ˆ~ Y^ÔÁÃ^m◊_ [˝SÔXÁ EıÃ[˝”X * [˝ÁπY„]ÁªJÙX ◊XÃ^‹óˆ„SÃ[˝ 

[˝◊c˜:`Tˆ¤Á[˝_› C %\ˆÓ‹ôˆÃ[˝›S `Tˆ¤Á[˝_› %Á„_ÁªJÙXÁ EıÃ[˝”X * 

  1 + 1 + 10 + 8 

4* ªRÙO›EıÁ ◊_F«X ( Â^ ÂEıÁX ªJÙÁÃ[˝◊ªRÙO ) : 5 × 4 

Eı) =◊‡ˆ„V %ÓÁ[˝À◊a◊aEı %‰∂⁄ˆÃ[˝ `ÁÃ[˝›Ã[˝[˝ w¯›Ã^ EıÁ^ÔÁ[˝_› 

F) =◊‡ˆV XÁ]EıÃ[˝„SÃ[˝ %Á‹ôˆL¤Á◊TˆEı ae◊c˜TˆÁ 

G) ◊[˝◊\ˆ~ W˝Ã[˝„XÃ[˝ Y«πYYy◊[˝XÓÁa 

H) aeEıÃ[˝ [˝_ [˝Á Âc˜ªRÙOÁ„Ã[˝Á◊aa-AÃ[˝ EıÁÃ[˝S A[˝e A◊ªRÙOÃ[˝ 

[˝Á◊S◊LÓEı [˝Ó[˝c˜ÁÃ[˝ 

I¯) ◊[˝◊\ˆ~ W˝Ã[˝„XÃ[˝ %]Ã[˝Á◊[˝XÓÁa * 

◊[˝\ˆÁG - F 

 Â^ ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

5* "Â_Á◊c˜Tˆ ªJ«ÙÓ◊Tˆ' C "A]ÁÃ[˝aX Y“\ˆÁ[˝' [˝_„Tˆ ◊Eı Â[˝ÁMıÁ ^ÁÃ^ ? 

3C  C 4C =◊‡ˆ„VÃ[˝ ]„W˝Ó T«̂_XÁ C YÁUÔEıÓ ◊XÃ[˝”YS EıÃ[˝”X* 

4C =◊‡ˆ„VÃ[ TˆÁdY^Ô ◊Eı ?  4 + 6 + 2 
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6* ◊X∂oˆ◊_◊FTˆ %UÔEıÃ[˝› =◊‡ˆVm◊_Ã[˝ (Eı) ◊[˝p˚ÁXa∂ˆÇTˆ XÁ], 

(F) „GÁy, (G) [˝Ó[˝c˜÷Tˆ %e` C =YÁVÁX A[˝e (H) [˝Ó[˝c˜ÁÃ[˝ 

a+„EÔı ◊_F«X ( Â^ ÂEıÁX ◊TˆX◊ªRÙO ) :  4 × 3 

 Eı◊Zı,  aYÔGμ˘Á,  ◊a„·¯ÁXÁ,  c Õ◊YEıÁEı A[˝e ◊ªJÙXÁ[˝ÁVÁ] * 

7* ÿëˆÁ\ˆÁ◊[˝Eı Ê`“◊S◊[˝XÓÁa EıÁ„Eı [˝„_ ? %ÁYXÁÃ[˝ Y◊PˆTˆ AEı◊ªRÙO 

ÿëˆÁ\ˆÁ◊[˝Eı Ê`“◊S◊[˝XÓÁa [˝SÔXÁ EıÃ[˝”X * Ac Õ Ê`“◊S◊[˝XÓÁ„aÃ[˝ mS 

C y”◊ªRÙOm◊_ ◊XÃ[˝÷YS EıÃ[˝”X * 1 + 7 + 2 + 2 

8*  RÙO›EıÁ ◊_F«X ( Â^ ÂEıÁX ª◊TˆX◊ªRÙO ) : 4 × 3 

Eı) ]ÓÁ◊_Eı %ÓÁ◊aQˆ Tˆ√º¯ 

F) Ã[˝Ác˜O„LÁ◊[˝Ã^Á]-AÃ[˝ XÁc Õ‰ÆœÙÁ„LX ae[˝μ˘X 

G) `üÁa %X«YÁTˆ (R.Q.)  

H) ]ÓÁÜÁ◊XL C TˆÁ]Á — ÿëˆî]Á◊≈yEı Â]Ï„_Ã[˝ 

%\ˆÁ[˝L◊XTˆ _l˘S * 

9* =◊‡ˆV Y^ÔÁ„Ã^Ã[˝ [˝Á YÁÃ[˝+^Ô %ÁG]„XÃ[˝ Y“EıÁÃ[˝„\ˆV a+„EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X * c˜Ác˜O‰QŒˆÁ◊a◊Ã[˝-AÃ[˝ ◊[˝◊\ˆ~ Y^ÔÁÃ^y‘◊]Eı 

V`Ám◊_ a∂ëˆ„μ˘ [˝SÔXÁ ◊VX * 5 + 7 

10* aÁ„_ÁEıae‰`¿b-AÃ[˝ G◊Tˆ ◊XW Ô̋ÁÃ[˝Eı `Tˆ¤Á[˝_› [˝Á Y“\ˆÁ[˝Eım◊_ 

C A„VÃ[˝ EıÁ^ÔÁ[˝_› a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X * [˝¿ÁEı]ÓÁX-AÃ[˝ 

◊XÃ^‹óˆEı Y“\ˆÁ[˝EıÁÃ[˝› a…‰yÃ[˝ TˆÁdY^Ô [˝SÔXÁ EıÃ[˝”X * 8 + 4 

◊[˝\ˆÁG - G 

 Â^ ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

11* [˝›„LÃ[˝ %·«¯„Ã[˝ÁVG„] C Y«πY Y“ÿˆï…ıªRÙO„X ◊L[[˝Á„Ã[˝_›X-AÃ[˝ 

\…ˆ◊]EıÁ =‰{F EıÃ[˝”X * 3 + 3 

12* %ÓÁ_[˝ÁªRÙO¤ ◊c˜_ EıT  ¤̂Eı %UÔEıÃ[˝› =◊‡ˆ„VÃ[˝ [˝Ó[˝c˜ÁÃ[˝◊\ˆ◊w¯Eı 

Ê`“◊S◊[˝XÓÁa ae„l˘„Y [˝SÔXÁ EıÃ[˝”X * 6 

13* =◊‡ˆ„V [˝›Lc˜›X Zı_ =dYÁVX, %Á„_ÁEı[˝ ◊w¯ ªJÙ_X A[˝e 

%G–ÿöˆ Y“EıªRÙOTˆÁ ◊XÃ^‹óˆ„S %◊j„XÃ[˝ \…ˆ◊]EıÁ [˝SÔXÁ EıÃ[˝”X * 

  2 + 2 + 2 

14* ÂEıÁ„bÃ[˝ Y…SÔLXXl˘]TˆÁ ◊Eı ? E ı◊bÃ[˝ =~◊Tˆ„Tˆ Eı_Á„YÁbS-

AÃ[˝ [˝Ó[˝c˜ÁÃ[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X * 1 + 5 

15* _ÓÁ◊]„Ã^a› ( _ÓÁ◊[˝„Ã^ªRÙO› ) ÂGÁ‰yÃ[˝ Y“W˝ÁX ªJÙÁ◊Ã[˝◊≈yEı 

È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X * _ÓÁ◊]„Ã^a› ÂGÁy\«ˆN˛ V«◊ªRÙO 

%UÔEıÃ[˝› =◊‡ˆ„VÃ[˝ ◊[˝p˚ÁXa∂ˆÇTˆ XÁ] A[˝e %UÔÍX◊TˆEı mÃ[˝”±ºˆ 

◊_F«X * 4 + 2 

16* %ÓÁ∫RÙOÁ„Ã[˝a› (Eı„+Á◊Lª◊ªRÙO) ÂGÁy„Eı ◊•[˝›LYy› =◊‡ˆV„GÁúˆ›Ã[˝ 

]„W˝Ó ÂEıX a[˝ÔÁ„Yl˘Á =~Tˆ [˝„_ ]„X EıÃ[˝Á c Ã̃^ ? Ac˜O 

ÂGÁy\«ˆN˛ V«◊ªRÙO %UÔEıÃ[˝› =◊‡ˆ„VÃ[˝ ◊[˝p˚ÁXa∂ˆÇTˆ XÁ] C [˝Ó[˝c˜ÁÃ[˝ 

◊_F«X * 4 + 2 

17*  YÁUÔEıÓ ◊XÃ[˝÷YS EıÃ[˝”X ( Â^ ÂEıÁX V«◊ªRÙO ) : 3 × 2 

Eı) Y“„ÿëˆVX C ◊XÿÉˆÁ[˝S 

F) c Õ=Y¿„Ã^Qˆ› C %ÓÁ◊X=Y¿„Ã^Qˆ› 

G) Zı_Y“a… Y“EıÁ`X C È[˝W˝ Y“EıÁ`X 

H) ◊[˝£à˘W˝ÁÃ[˝Á ◊X[˝ÔÁªJÙX C GS ◊X[˝ÔÁªJÙX * 

18* DNA Y«X„^ÁÔLX Yà˘◊Tˆ ae„l˘„Y [˝SÔXÁ EıÃ[˝”X * 6 
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( English Version ) 

 

 

Group – A 

 Answer any two questions : 20 × 2 = 40 

1. Describe the different types of Cymose 

inflorescence with neat sketches. Give examples 

in each type. With neat sketch describe the 

structure of an ovule of angiosperm. 15 + 5 

2. Write down briefly the adaptive features of the 

following plants : 

 Morphological features of xerophytes, anatomical 

features of hydrophytes, physiological features of 

halophytes. Write down the botanical names of 

two halophytic plants. 6 + 6 + 6 + 2 

3. Name the first acid ( intermediate product ) of the 

pentose phosphate pathway. What is the 

alternative name of this pathway ? Mention the 

different steps of this pathway. Write down the 

external and internal factors controlling 

transpiration. 1 + 1 + 10 + 8 

4. Write notes on the following ( any four ) : 5 × 4 

a) Physiological role of abscisic acid in plant 

b) International code of Botanical 

Nomenclature 

c) Different types of aestivation 

d) Cause of hybrid vigour or heterosis and its 

commercial use 

e) Different types of placentation. 

 
Group – B 

 Answer any three questions : 12 × 3 = 36 

5. What do you mean by ‘red drop’ and the 
‘Emerson Enhancement effect’ ? Compare and 
contrast between 3C  and 4C  plants. Point out 

the significance of 4C  plants. 4 + 6 + 2 

6. Write down the (i) botanical name, (ii) family, 
(iii) parts used & constituents and (iv) uses of the 
following economically important plants ( any 
three ) : 4 × 3 

 Coffee, Rauwolfia, Cinchona, Ipecac and Ground-
nut. 

7. What is natural system of classification ? Give an 
outline of the natural system of classification you 
have studied. Point out its relative merits and 
demerits. 1 + 7 + 2 + 2 
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8. Write short notes on any three of the following : 

  4 × 3 

a) Malic acid theory 

b) Nitrogen fixation by Rhizobium 

c) Respiratory Quotient ( R.Q. ) 

d) Deficiency symptoms of microelecments 
manganese and copper. 

9. Describe the types of plant succession. Write 
down the different successive stages of 
hydrosere. 5 + 7 

10. Give an account of the factors that influence 
photosynthesis. How do they act ? Discuss the 
significance of Blackman’s law of limiting factors. 

  8 + 4 

Group – C 

 Answer any four questions : 6 × 4 = 24 

11. Discuss the role of gibberellin in seed 
germination and flowering in plants. 3 + 3 

12. Give a brief account of classification of the 
economically important plants based on 
application as proposed by Albert Hill. 6 

13. Point out the role of auxin in production of 
seedless fruits, phototropism and in control of 
apical dominance. 2 + 2 + 2 

14. What is totipotency of cell ? Describe the role of 
tissue culture in the improvement of agriculture. 

  1 + 5 

15. Give the main diagnostic features of the family 
Lamiaceae ( Labiatae ). Write down two 
economically important plants of the family 
mentioning economic importance. 4 + 2 

16. Why is the family Asteraceae ( Compositae ) has 
been considered as most highly evolved among 
dicotyledons ? Mention the names of two 
economically important plants belonging to the 
family with economic importance. 4 + 2 

17. Distinguish between ( any two ) : 3 × 2 

a) Transpiration and Guttation 

b) Euploidy and Aneuploidy 

c) Effective publication and Valid publication 

d) Pure line selection and mass selection. 

18. Give a short account on recombinant DNA 
technology. 6 

    


